Economics 12 – spring 2010
Final Exam – A
Please answer all five questions.  You must show any work you did to arrive at your answers.  All graphs must be completely labeled.  Good Luck and have a great summer.

1. Suppose it is 2001, and the U.S. is in a mild recession.  The Federal Reserve has decided to increase the money supply in order to stimulate the economy.   Illustrate the effect of this change in policy in the AD/AS model under:

a. Monetarist assumptions.  Make sure you indicate the short- and long-run.

i. 
What determines the long-run value for real GDP?

b. Rational Expectations assumptions.

Part II – Repeat your answers in a well-drawn Phillips Curve.

2. In 1999, the Fed began the process of tightening the money supply and raising interest rates.  Illustrate the effect of this policy in the labor market under Rational Expectations assumptions. What happens to real wages and employment?
Part II – Explain the impact of the above policy using the equation below:


Y  = YLR + $40 Billion * (P – Pexp)




Let 
P 
= 110




Pexp 
= 120





YLR
= $12 Trillion
a. Give two circumstances under which this might happen.

3. Compare the effectiveness of 1982 contraction of the money supply under:

a. Monetarist assumptions

b. Keynsian assumptions

Use the investment demand-money demand/money supply model developed in class.

In both a) and b) above, explain why policy does or does not work.  Be explicit about the slopes of your curves.
4. The numbers below represent observations on unemployment and inflation:

Unemployment
Inflation


4%

     8%


6%

     5%


4%

     3%

a. Plot these points in a carefully drawn Phillips Curve.  What theory are they consistent with (e.g. Rational Expectations).
Part II – In a well-drawn AS/AD curve, show the shifts that took place that would produce the numbers above.

Part III – If instead, the numbers look like this:




Unemployment
Inflation






4%

    8%






6%

  11%






7%

  13%

What model is at work now?  Give an example of an economic “event” that would produce numbers like these.

5.
Explain the relationship between each of the following and economic growth:


-Technology


-Natural Resources


-Human Capital


(see next page)


Part II – the Solow Growth Model can be defined as:





sY/N = (n + d)K/N





where:  s = The mps

n = Population growth rate






Y = GDP

d = Depreciation






N = Population

a.
Explain the relationship between capital-intensity and living standards?  Why is the role of savings critical?

b.
If:



s = .08
(8%)
n      = .04 (4%)


d = .12
(12%)
GDP=$5 trillion


N = 100 million


What is the value for K/N?
c.
What happens to this figure if the savings rate rises to 

10%?

Part III – One of the exceptions to the Solow Model is the productivity of capital in developing versus developed nations.  What should we see?  What might account for this (what is missing from the Solow Model)?
